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INSTRUCTIONS

Each question is printed both in English and in Kannada.

Answers must be written in the medium specified ( English or
Kannada ) in the Admission Ticket issued to you, which must be
stated clearly on the cover of the answer-book in the space
provided for this purpose. No credit will be given for the answers
written in a medium other than that specified in the Admission
Ticket.

Candidates should attempt Questions 1 and 8 which are
compulsory, and any three of the remaining questions, selecting at

least one question from each Section.

All questions carry equal marks. Provide labelled diagrams in the

answers wherever necessary.
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SECTION A
Answer any threc questions o tol more thaa 200 wonds oot
GO Grve anacconnt of stoactige ol aovirus,
(h)  Describe the cell structure, pigments and reproduction s Phacophyecae.
()  Compare the internal structure of thallus ol Marcharniue and Anithoceros,
(d) Explain the salient features of the lite cycle o lerns,

Give an account of causal organisim, symptone. an the host el coniol nueasures
with respect to any four of the following -

(a) Covered smut of barley

(b} Red rot of sugarcane

fc) Bacterial leaf blight of rice

{1} Ear cockle of wheat

(e} - Yellow mosaic of beans.

fa} Write an account of sexual reproduction in the o P
() Explain why Psilotum is considered to be a living to-..l

{c} Highlight the role of microbes in the food and beverpe midic ey
(d) How are the fungal diseases transmitted ?

{a) Micro-organisms can help in generating income lront dome b and mdnstrial
wastes. Explain.

(b) Write an account of reproductive structures in red alzas
{c) Write short notes on :

{ii Eyespot

(i) Plasmids

(i) Ecological importance of bryophytes

{iv) Origin of siphonostele.
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W BUNS OINTYRTITR etE, FBcdeomse, 200 IERYR Qoedmod w3 04

()
L

(c)
(d)

0% CUTERTRY, TeIFA.

FoldpeP R Remboess oud,  Scorsned (Seorm,m,ried-Pigments ) BBy,
HVTITTRODLI, 0B RO

SOFIFOLAD WX, HoFoeZdHTTT IO woITUNRR Lo IRk,
B[O%, AT, NG ReSTT BT, 5orothss OdF, ©F LaneRy HTO.

8 SYASHYNYY, oINFYE0R MY,8, BTOATE ( Host ) sheenmys TOBRS, 26850 Uud
( Causal organism ), Spenzs ©F 5 5@, BT, NWFORER BRArnYay, Lo,

(@)
(b}
(c)
(d)
(e)
{a)
(b}
{c)
()
(a)

(h)

IR 0% S GBI W) { Smut )

gy Ren ornrds #03) 8493 ( Red rot )

18,03 39,4,e0030 Irardecord { Leaf blight )

ol 330 KoEy, sy H8 ( Ear cockle )

BOowECL (20eTT)) 0 ToconathE 263 $0ero ( Yellow mosaic )

), We0o3m aozded G Nos FI, I @ oy DBTTAL.

ASRITTTR, LT A TIPoINTE ot ¥ JordHTT:y ? AR,

BT ), TIVD LB NG, deermrens ( Microbes ) EREmsy $03 oo,
Toogpticnoniowria Saenned ( Fungal diseasess ) Bert U3 ?

RRE,, BN MBS, Teie 40N I,FF IEFNP0R Smokay 9038, IRE
TEODTRY . DTOR.

o3y Bewss ( Red algae ) B33 303m Tudnivny, B3 HBuIBA.
B dINSPnent oo el ed wiotd:

I} TP ¥ DdaeX ( Eyespot )

oy 8, G

(I myodneghts™ne SOTT a3

liv)  rgfpdned eots ENSOISZ PRy
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SECTION - B
Amiser s any thiee of the following in not more than 200 words each !
(il b line apomixis and highlight its practical importance in agriculture.
14 Wiite an account of economic importance of gymonosperms.

() Pescribe an orchid flower. Which are the main areas ol distribution ol orchids
in India ?

(d) Discuss the salient features of Hutchinson's system of classification of
angiosperms.

Compare the following sets :

(a) -Transverse section of Cycas stem and Pinus stem

{b) Monocot and Dicot embryos

(c) Cleavage polyembryony and Adventive polyembryony

(d) Difterentiation and Dedifferentiation.

(@) Describe any four types of stomata that ocecur in flowering plants.
(b} Highlight the economic importance of Rosaceae.

(¢) Write an account of the distinguishing vegetative and floral features of
Cucurbitaceae. i

(a) Describe how a typical dicotyledonous plant undergoes secondary growth.

(b) Explain how tissue culture methodology has been utilized for conservation and
improvement of plants.

(c) Write short notes on any four :
@) Barriers to fertilization in incompatibility systems
() Annual rings in wood
(i) Numerical taxonomy
(iv) Taxonomic importance of Gnetum

{v) Palynology and public health.
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@ ‘adpedcdnt’ ( Apomixis N R0ARA @E, & §e339  sog Tyodnens
TR0, oy LBTHH2.

B)  ©RR R0, N SoprE TyEn,3 Bdd o0,

) T BonRy 803 DHDA. LR0SRE. GermYs Eoat S0, FPesnes iy ?
(d)  JosxaT #5320 02adney o8, Ny WHre3ortd J QbF, OF ey, X8 T0A.

& 89N acandsy, Dot Sn:

@) Far® 5208 B, T TR s 2e0d

b)  2Eod DL, {BY IXT W

(¢) DT wEPRD BT, wdhmohd w3 ( Cleavage polyembryony and
Adventive polyembryony )

(d)  FRedT ( Differentiation ) w30, @@ ( Dedifferentiation )
@ e OrE XAV, Bt CRFTIE0 T, T BITOPNRTTY, HTO’.
(b)  damachad $RF8 mymw, doby, HBTTHAL.

tc)  Bedruderod A TNero ( Vegetative ) W02y, W Ty 0 ( Floral ) Of e
B, T AT, BOBY LBONE.

W oo ovg,ede v X, Bt B, 2008 BeRHAR LYMLEE sty SO,

(b) =Zne o E o, ERJHMN I8 TesTra weaR®y ( Tissue culture
methodology ) &ert enmodpeAREddond QxoL.

(€} &5 8¢AT cmIIRTon mes, oz LY exdeo:
i sxshons 3 8ned), Song3 ( Fertilization ) A 66, wdosnss
(i) oY O3 moars evorbons: ( Annual rings )

hil)  Toaou 3, 8 SPergor Qs

4,

(iv) Fetiom Thergd Tymn 3

(v}  SOSReR L 03

L

455
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INSTRUCTIONS

Each question is printed both in English and in Kannada.

Answers must be written in the medium specified { English or
Kannada ) in the Admission Ticket issued to you, which must be
stated clearly on the cover of the answer-book in the space
provided for this purpose. No credit will be given for the answers
written in a medium other than that specified in the Admission
Ticket.

Candidates should attempt Questions 1 and 5 which are
compulsory, and any three of the remaining questions, selecting at

least one question from each Section,

All questions carry equal marks. Provide labelled diagrams in the

answers wherever necessary.

rem dactd . & sheeoR Rau3nY SR SemuoTud & TP, micn dadeh PITE,
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SECTION - A

Answer auy three of the following. Each question should be answered in not more
than 200 words :

{a)
(b)
{c}

(d)

Explain the structure and function of dictyosomes.
Write an account of the melotic division of a plant cell.

How is cytoplasmic male sterility determined ? Enumerate haow CMS lines are

helpful in crop hreeding.

Discuss the role of auxins in plant growth and development.

Explain the genelic basis of sex determination in plants. Add a note on why the

sex-linked deletericus genes affect the human males more often than the females,

(@)

(b}

(a)

),

Discuss the mechanism of absorption of water by the plant roots and ils
conduction upto the leaves. What are the factors which affect the plants-

water relations.

Describe the mechanism of gene mutation. What is the role of mutations in

evolution of an organism ?

Write short notes on any three of the following :
) Mechanism of crossing over

(i) Photoperiodism

(i} Polytene chromosomes

(ivi Transmission electron microscope

(vi Sites of light and dark reaction.

Discuss the mechanism and significance of photorespiration.
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o 3ONT CIRTYTRT0H etk Tsoleonse, 200 BEnen oednod wod o8 |
(a) *fciecioemrny U wE, Feohrady Q0.
(b} =%, esdoenr odpeele’ Lrted ( Meiotic division } 0Oy, 803> HBTTBA.

{0) Zideesmy, o Foox S0E,3 ( Cytoplasmic male sterility ) sy Jert AR, arxdQD ?
g& 39riert ( Crop breeding ) CMS Seadnieh Dert Tocdamrig,zl 2o HTOA.

(d) Xm0 uvsein S, sngh) G, SARTY T, SO

RE,RYE R Oont Apyerorod whsodeod RvTE, IR, ARDA. BEYNON0Z Burp,H JHATAY,

¢3,0N¥ KOL0HI TINEC SoTTOND Terl DI DFVTOTT;, LI B 202T0 2wl .oT B

ndob.,

(@) XX,T LeoonWs REOR;, WeLEANT TW 0 cSR0E DT WF, 80T SRYRVAR
MADHOBHT;, H203 widra. TX NV 20t TowoAZed vrum ooE dEEinY
SOBNTITY 7

(b) ©Todeod I OTTFL ( Gene mutation ) ¢ WiodFAcRT; OTOL.  LOWD e
DEESE B ORIBFINY TeZTe ?

(a) B4 SHNIJNYD, WRIJPTTTHL B0, OFY L3S LBoD:
i) =mozoEed ( Crossing over ) 330853
(i) &e2 502 (Photoperiodism )
fiii) wEXHAT, dneltetnels ried ( Polytene chromosomes )
(iv) xouosy adoy T Tk, TbF
(v) Soodecd 03, ey, T2doin mgpc'dﬁ'éa { Sites of light and dark reaction )

(b} o 3~z RewR X ( Photorespiration ) & S0®3F, 303, 03R08B30Ra;, S,

I Tharn ove|
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SECTION - B

5. Answer any three of the following. Each question should be answered in not more
than 200 words :

(a)
(b)

(c)

(dy

G, (al

(b)

(b)

(b)

Highlight the diversity of forest types in India.

With the help of suitable exampies, discuss the significance of plant

indicators.

Enumerate the morphological and physiological adaptations displayed by

plants for water stress tolerance.

Write an account of various methods of study of plant communities.

Discuss the effect of air pollution on

i Ozone layer

(i) Climate

(iiif Plants.

What are methods to overcome seed dormancy 7

Enumerate the major steps in process:ﬁlg ol tea.

Explain the effects of temperature, light and rainlall on vegetation of a region.

Give botanical names, precise utility and distribution of any five important

timber yielding species in India.

Enumerate the characteristics and two important sources of each of the
following :

{it Insecticides

(i) Dyes

(i} Essential olls.
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(a)
(b}

{c}

{d)

()

{hi

(a}

(b}

ICIB S QOG DS $UR,T HFINGT, LBTTAR.
TRE ImTBURNREL0OM XX, RAWENY DI ST, WA

20T LB BT RBS BTN X, N FOBFAT XX, N OATTR,L0L TI, BOUDR,00
TRoDIENGT; 503 QIR

X, KhABE 2estnay, B3, AT HOG T7 Sty 103> HETTHA 230D,
81 SYATTAY seed 9030 BROT, DOTIrhE TOIFIEHTRY, 9N

(i) ) bl ITT

(i) zeodores

() =x,re

2IELEY RoET,RR QT BATWLR QETSATRHTY ?

43 0%, 0F FoRF LR 0oE woa, TeInvey HTdA.

LOm ZEesr R[S whed e, 4 3, WYE S0E, NPT SO,
LBTTBA.

(SICBEOR GRYCOL B0 JRVD HOTHLY, NOFTUTT BXINING TR, T4, 080
e, ROCTE eoTtotod $ Zody, Ry Boronwy, O LI,

& SUATENY D8R0 Throdenyd B SN ZSHR 20HSE BRIND
TOROMER, 2R

(i} gerirrEnish:
(i e o mss | Dyes )

fui) &I 2 LFE

AN






